Section 2.7 —Find Angle <XYZ for each problem below:
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2. Determine the length of JK to the nearest tenth.
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Draw the diagram for the problem below. Feel free to ask ifyour drawing is correct before salving.
Lﬁ Two office towers are 50 m apart. From the top
of the shorter tower, the angle of depression of .

. the base of the taller tower is 35°. The angle of a S
elevation of the top of this tower is 25°, 5
Determine the height of each tower to the
nearest metre.
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From a window on the second floor of

her house, a student measured the M, L 4
angles of depression to the bottomofa 0
tree 40 degrees and elevation to the top =+~

-of the tree to be 16 degrees.

If she knows she has made the

measuresments 16 ft above the ground, ,

what is the horizontal distance between 5 Y -
the student and the tree? L Tan © = ¢ N

Assignments Due Tomorrow !




